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a7 v 77 Loffivyg L sHfl
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A7 v 71 (74N : Quantification)
7 # V& Quantification 7 7 4 )b DataPsy.csv [ZLATD X 5 i > T 3,

i A B C D E F G H E
1 [o o1 Q2 Q3 Q4 Q5 Q6 Q7 :
o 0 3 3 3 3 3 0 0o
i 3 139D 3 1 3 3 1 10 0 :
| 4 40D 3 2 2 2 1 10 0

| 5 (41D 3 2 2 2 1 0 0
' 6 |42D 2 1 2 2 1 60 80 |
| 7 143D 2 2 2 2 1 80 0o
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File Edit Shell Debug Options Window Help

Python 3.7.4 (tags/v3.7.4:e08309112¢, Jul 8 20189, 20:34:

Type “help”, “copyright”™, “credits” or "Iicense()' for mo
Y !
============ RESTART: R:¥Yasuharu¥temp¥Konishi(0819¥ChapsF
When the input data file is a text file, key in 1

When the input data file is a CsV file, key in ?

Your choice (1 ar 2) 7 = 2

Input data file (%.csv) = DataPsy.csv

Output data file [(x.txt) = Results.txt

Fesults.txt was saved.

The name of CSY file for output (*.csv) = temp.csv
temp.csv was sawved.
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CSVIERD 77 AN%E, RDRAT v T 2TDAN 77 ANVET D, LENIIEET £ L T.osv
A CEYICRET S

AT v 72 (741X PCA)
A7 v 71 TERRL 727 7 4 )V temp.csv % Excel THIK LLATD X HiCm> T3,



D77 ANE 7 30X PCAICT 744 DataPCAcsv & L CTIRFT 5, 7 4+ X PCA
D7 7 AN MainPrg.py ZET73 %, TRIDXHICT7 7 ANHRELRFRIET 5,

: A B

ilID !QLO ]
;2 /39D 0.79057
| 3 |40D 0.79057
| 4 |41D 0.79057
| 5 |42D -1.26491
' 6 [43D -1.26491
'7 |44D 0.79057
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c D

E

Ql-1 Q2-0 Q2-1

1.27475 -1.48663
1.27475  0.77081
127475 0.77081
0 -1.48663

0 0.77081
-1.27475  0.77081

0.83062
0.17566
0.17566
0.83062
0.17566
0.17566

Q3-0

E

1.22508

-0.87731
-0.87731
-0.87731
-0.87731
-0.87731

Q3-1

G

1.35371
0.05524
0.05524
0.05524
0.05524
0.05524

H

Q4-0

1.69367

-0.65002
-0.65002
-0.65002
-0.65002
-0.65002

Q4-1 Q5-0

0.68177
0.14803
0.14803
0.14803
0.14803
0.14803

-0.58248
-0.58248
-0.58248
-0.58248
-0.58248
-0.58248

Q5-1
-0.07445
-0.07445
-0.07445
-0.07445
-0.07445
-0.07445

22

®xdim =
vdim

xdim = 1

ydim = 2
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Python 3.7.4 (tags/vw3.7.4:209309112¢, Jul
Type "help”,

Lambda-1
Lambda-2
Lambda-3
Lambda-4
Lambda-5
Lambda-6&
Lambda-7

Lambda-9
ambda-10
ambda-11
ambda-12

Number of components

Set the component number
[T vou do not want to plot the pattern, set the number less than 1.

1

[

1

[

1

0

0
Lambda-8 0.
0

0

0

0
=2

Lambda cum.sqr
BB84Y  2.78379
40765 4.76527
15340 B6.10947
0R815 722914
03339 8.29705
J98130 0 9.25999
.83307  9.9h399
79109 10.57982
72068 11.11226
Bh384  11.04764
Bz203 11.820150
LAz2408  12.00000

23.20
39.71
60,41
B0.24
69.14
FET
82.85
8817
8z .60
96.23
85 .50
100.00

(from 1 to 2) to plot the pattern.

[ERT ] 2SR E N7z,

8 2019, 20:34:20) [MSC v.1916 6

“copyright”, "credits” or "license()” for more information.

RESTART: R:¥Yasuharu¥temp¥Konishi0813%¥Chap8Files¥PCA¥Main
Your data is in a Text File...Choose 1
Your data is ina C3¥ File....Choose 7
Your choice = 2
Input data file (%x.csv) = DataPCh.csv
Output data file = temp.txt
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'Y:,' Figure 1 — O o
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BERRDZZEICEE, WINBIELWRETH %,

FofE» b, Q2-1 & Q6. Q4-0 & Q6 DEAFREF~S (MEFEMHZH), ZDdD
A7 7 A N% 7 44X SimpleRegression IC/ERLT 5,

AT v 73 (74X : SimpleRegression)

2Ty 71 ToO17 7 40 temp.csv Zh <
ZELQ6 & Q2-1 % T D X HITED, 7 + )L X SimpleRegression IC 7 7 4 +% Q6Q21.csv
& LTIRES %,
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A B C D |
‘1 [ID Qs Q2-1
"2 [39D 10 0.83062 !
3 |40D 40 0.17566
' 4 |41D 0 0.17566
|5 [a2D 60 0.83062 |
' 6 |43D 80 0.17566
' 7 |a4D 80 0.17566 i
' 8 (45D 20 0.83062
"9 [a6D 20 0.17566

o777 ANEATIT—42L LT, 74L& SimpleRegression ® 7’11 77 2. Main.py % %
119 %,

| & *Python 3.7.4 Shell*
File Edit Shell Debug Options Window Help

Python 3.7.4 (tags/v3.7.4:209309112e, Ju!
Type “help”, “copyright”, “credits” or 7
by |
=========== RESTART: R:¥Yasuharu¥temp¥kor
[nput data type...

Data is =set in the list RawData ->» 1
Data is set in the text file - 7
Data is =set in the csv file -» 3

Your choice = 3

[nput data file (%.csv) = Q6021 .csv
Output file name = temp.txt

DQta...

(107, "087, "02-17]

['380°, 10.0, 0.83062]
[ 4007, 40.0, 0.17566]
["410°, 0.0, 0.17566]
[ 4207, 60.0, 0.83062]
[ 4307, 80.0, 0.17566]
[ 4407, 80.0, 0.17566]
[ 4607, 20.0, 0.83062]
[ 4607, 20.0, 0.17566]

ERDXSICAN T 7 AN EZRFRIET 5 & TRIDREIREMRD 215,
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& Figure 1

Simple Linear Regression
r=0.427 RZ=0.183
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x=-1.71055 y=-30.7143

R, A7 v 71 TOHI7 74 temp.csv Zhd &, ZE Q6 & Q4-0 Z FTXD X S i
HE, 7 4 X SimpleRegression I 7 7 4 4% Q6Q40.csv & L TRIET 5%,

i A | B | C D !
1D Q6 Q4-0
{2 (39D 10 1.69367 |
'\ 3 [40D 40 -0.65002 |
4 |a1D 0 -0.65002
' 5 42D 60 -0.65002 |
' 6 |43D 80 -0.65002 |
' 7 |a4D 80 -0.65002
' 8 |45D 20 -0.65002 |
| 9 |46D 20 1.69367

o777 ANEATIT—42L LT, 74X SimpleRegression @ 7’11 77 2. Main.py % %
119 %,
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| & *Python 3.7.4 Shell*
Eile Edit Shell Debug Options Window Help

Python 3.7.4 (tags/v3.7.4:e09359112e, Jul & 2
Type "help”, "copyright”™, "credits” or "licens
s :
=========== RESTART: R:¥Yasuharu¥temp¥fonishil
Input data type... i
Oata is =et in the list RawData -> 1 !
Data is set in the text file -> 7 i
Oata is =et in the csv Tile -» 3 i

Your choice = 3
Input data file (%.csv) = Q06040 .csv
Output file name = temp.txt
Data. ..
["I07, "06°, "04-07]
[73907, 10.0, 1.69367]
4007, 40.0, -0.65002]
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/\, Figure 1 =z O X
Simple Linear Regression
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25 v 74 (741K : CrossTable)

AT TVEBQL & Q2 DRARE R 2, 28 Q1 & Q2 ZELH P ICOWTIE, AFDH
Hz I iz v,

9. A7y 7 1IKET B 7 + /L& Quantification DT — X 7 7 4 )L DataPsy.csv 2> 5
KD 77 ANVEERL T, 77 4 1% DataQl1Q2.csv & LT 7 # L& CrossTable ICfR7F T
%,

___________________________________

rtoF—2%A)17 7 40E LT7 41X CrossTable ® 7’1 77 L. CrossTable.py % 54T
FTHLELUTDOLIICR S,

s
1

z========== RESTART: R:¥Yasuharu¥temp¥honishiO819%¥Chap8Files
nl = 3 neg = 3
Input data file (x.csv) = Datall0Z.csv
Cnt =
(L1, 1, 107, [3, 2, 107, [6, 2, 4]]

Cross Table

psy=clin other psy>clin Sum

elem ] ] 10 1%
junior 3 i 10 15
senior 5} Z 4 1%
Sum 10 h 24 39




